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Instructions :
A The first 15 minutes of cool - off time. v,
4 Thistime is to be spent for reading the question paper.
A Youare not supposed to write anything during the cool - offtime.
A Read the instructions carefully and attempt the questions.
1.  Whatisthe algebaric form of the arithmetic sequence 23 27 31 35 ............ .find
o its 15th term ? : . | ' 3
~2."  How many number lies between 300and 500, Awhich. are multiples of 7 3
| 3.~ The2"and 15" terms of an arithmetic sequerice are 3:7. What is the ratio between
' the 8th and 19th terms? justify your answer’ R 3
4 Inthe figune ZA=100° ZBCE = 50°and /D =25° |

Find ZAEC and ZABC

‘What is the central angle ofarc ABC?
Find ZABC , .
~Find ZADC , ; A 3
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12.

IntheﬁgurePQmmedﬁameterandSRJ. PQRQ /4 cm and SR = \/28cm

b) Cos 30°

ol F1ndtherad1usofthec1rcle - .3
TR
Flnd the value of X in the equatlon 2x2+ 5x- 3—0 3
- Isitpossible to design a rectangular park Whose length s thce its breadth and the
area is 800m’. If so, find its length and breadth ; 3
Among the three second degree equations xz-x -2=0, x? - 3x+1=0, and
2x%+5x - 6=0, one equatlon has only one solutlon ‘Which is the equatlon and find
its solutlon ; : 3
'In AABC, £A=30"and £B=90° if. AB‘ 10cm, ﬁnd BC and AC 3
A 10em B
“Two sides of atriangle are 5 cm and 4 cm and their mcluded angle is 50°. Fmd the -
- areaof the triangle
"~ (Sin 50° = 0.77, Cos 50°= 0.64) 3
Fill inthe blance ‘
a) Sin30° ... ¢) Sin 60° ........ e) Sind5e..
............... d) Cos60°.......... f) Cos45°,............ 3



13.
a) Find its common difference
b) Find its 16™ term? _ ‘
(;) Write down the anthmetlc sequence? T ' T "4 ;

14.

15.

16.
17.

18.

The 6™ term of an arithmetic sevquevnce is 62 and its 12" term is 104

In the figure ZQPR 33° ZPQS= 40°and APSQ 35° Find all angles in the
quadrilateral PQRS . ‘ o o 4

) Draw a triangle with angles 35°, 70° 75°. Wlthln a circle of radlus

3 centimeters : ‘ 4 -4

How many terms of the arithmetic sequence 4, 14,24,...... should be addedis get
the sum 3 12 ’ .

(Use second degree equatlon) B | T ’ ' 4

A man 1.75 metre tall is 25 metre away from ﬂagpost. The angle of elevation of the
top of the flagpost from his eyes is 65°. what is the height of the flagpost? '

(Sin.65° =0.91, Cos 65°=0.42, Tan 65°=2.14) - - 4
In the figure ‘O’ is the centre of the circle ZAOB= 110° ZOBC = 250

ZBAD =20, Find all angles in the quadrilateral ADBC? | 4

19A. Sum of firstn terms of an anthme‘uc sequence is 2n*+5n. What is its algabaric

form‘7 Find its 10th term? What is the : sum of itsfirst 10terms? - 5
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22.

'OR

* B. Find sum of first 15 terms of the arithmetic sequence 8, 15, 22 .................. Write its
~ algabaric form? Findits 10thterm? . -5
In AABCAB=8cm, ZA=155°and AC— 7 cm. Draw trianigle ABC and then draw ~

a square of the same area _ : : 5.

As observed from the top ofa 150 me_tré tall building, the angles of dépression of

find the distance between the two ships? (V3=1.73) , 5

Sum of the areas of two squares is 468 m?. If the dlfferance of their perlmeter is
24 metre/ Find the sides of the two squares.

A(Use second degree equation) o | ' ' - 5

two ships’ approaching it are 30° and 45°. If one ship is directly behind the other, -






